)

3

4)

®)

(6)

N

8

@

68 =

75 -

77 =

83 =

67 =

36 -

42 -

58 =

46 -

b7 =

76 -

Q4 =

56 =

49 -

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

b3 -

03 -

49 =

37 =

89 -

34 -

27 =

44 -

45 =

83 -

26 -

36 -

Q7 =
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75 -

77 =

16 =

83 -

87 =

18 -

36 -

42 =

68 -

46 -

b7 -

76 -

Q4 -

56 -

49 -

2HT -1 HIR DAY (BEXK)

2 = 34
+ 4 = 18
8= 9
T4 = 2
9 =9
T 4= 14
T4 = 4
+ 2 = 18
7= 6
8 =7
+ 3 =15
8 =7
T4 = 12
+ 8 = 1
+ 5 = 1
+ 4 = 8
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(25)
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29
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h3 -

03 -

49 -

37 =

89 -

34 -

27 =

44 -

45 =

83 -

26 -

36 -

Q7 =
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